
HINDUSTAN MARGDARSHAN  SCHOLARSHIP TEST-2017-18

SAMPLE PAPER
FOR

CLASS 10th

[A] General :

1. Attempt ALL the questions. Answer have to be marked on the OMR sheets
2. This question paper contains 90 questions.
3. The question paper consists of  THREE Parts Physics, Chemistry &  Mathematics
4. Blank spaces are provided at the bottom of each page for rough work. No additional sheets will be provided for

rough work.
5. Blank paper, clipboard, log tabes, silde rules, calculators, cellular phones, pagers and electronic gadgets in

any form are NOT allowed.
6. Do not Tamper / multilate the OMR sheet  or  this booklet.
7. Do not break the seals of the question-paper booklet before instructed to do so by the invigilator.
8. SUBMIT the OMR sheet to the invigilator after completing the test & take away the test paper with you.

[B] Filling of OMR Sheet :
9. In all the parts, each question will have 4 choices out of which only one choice is correct
10. Use only Black/Blue ball point pen for filling the OMR sheet.
11. On the OMR sheet, darken the appropriate bubble for each character of your name, Registration No., Phone No.

etc.

[C] Marking Scheme :

12. For each right answer you will be awarded 3 marks if you darken the bubble corresponding to the corrrect

answer and zero marks if no bubble is darkened. In case of bubbling of incorrect answer, minus one (-1) mark

will be awarded.

INSTRUCTIONS
Please read the instructions carefully. You are allotted 5 minutes specifically for this purpose.
You are not allowed to leave the examination hall before the end of the test.

Margdarshan
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BRANCHES 2

1. If a c2 4  and b a3 9  and a,b,c all positive, then

(A) b c a  (B) c a b 

(C) c b a  (D) a b c 
2. The value of tan 1  tan 2  tan 3  ..... tan 89  is

(A) 1 (B) 0

(C)  (D)
1
2

3. Both roots of the quadratic equation
2x 63x k 0    are prime numbers. The num-

ber of possible values of k is
(A) 0 (B) 1
(C) 2 (D) 3

4. As shown in the figure. PA and PB are tangents
to a circle with centre at ‘O’. If R is the radius of
the circle and L is the length of the tangent then
the area of the PAB  is equal to

R

B

A
L

PO

(A)
3

2 2

LR
R L

(B)
3

2 2

RL
R L

(C)
2 2

2 2

R L
R L

(D)
2

2 2

2RL
R L

5. The value of 8 2 8 2 8 2 8 ........     is :

(A) 4 (B) 6
(C) 8 (D) 10

1. ; fn a c2 4  rFkk b a3 9 vkSj a,b,c  l Hkh / ukRed gSa
rks %

(A) b c a  (B) c a b 

(C) c b a  (D) a b c 
2. tan 1  tan 2  tan 3  ..... tan 89  dk eku gS &

(A) 1 (B) 0

(C)  (D)
1
2

3. ; fn l ehdj.k 2x 63x k 0    ds nksuksa ewy vHkkT;
l a[ ; k, ¡ gksa rks k ds fdrus eku l EHko gSA
(A) 0 (B) 1
(C) 2 (D) 3

4. fp=k esa n' kkZ; s vuql kj PA rFkk PB dsUnz 'O' okys òÙk dh
Li ' kZ js[ kk, ¡ gSA ; fn òÙk dh f=kT; k R gks rFkk Li ' kZ dh yEckbZ
L gks rks PAB  dk {ks=ki Qy gksxk A

R

B

A
L

PO

(A)
3

2 2

LR
R L

(B)
3

2 2

RL
R L

(C)
2 2

2 2

R L
R L

(D)
2

2 2

2RL
R L

5. 8 2 8 2 8 2 8 ........     dk eku gS%

(A) 4 (B) 6
(C) 8 (D) 10

MATHEMATICS
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BRANCHES 3

6. In this figure, AOB is a quarter circle of radius
10cm and PQRO is a rectangle of perimeter 26cm.
The perimeter of the shaded region is:

Q

AO P

R

B

(A) 13 5  (B) 7 5 
(C) 7 10  (D) 17 5 

7. In the diagram ABC  is right angled at C. Also
M, N and P are the mid points of sides BC, AC
and AB respectively. If the area of APN  is
2 sq. cm then the area of ABC  in sq. cm is:

N

M

P

B

A

C

(A) 16 (B) 12
(C) 8 (D) 4

8. In right triangle ABC ( B 90 )    have lengths

AB 3  and BC 2 . If C    then the
value of sin   is :

(A)
3
7

(B)
4
7

(C)
3
5

(D)
3

7

6. fn; s x,  fp=k esa AOB pkSFkkbZ òÙk gS ft l dh f=kT; k 10 l seh-
rFkk PQRO , d vk; r gS ft l dk i fjeki  26 l seh- gSA
Nk; kafdr Hkkx dk i fjeki  gksxk %

Q

AO P

R

B

(A) 13 5  (B) 7 5 
(C) 7 10  (D) 17 5 

7. fn; s x; s fp=k esa ABC  , d l edks.k f=kHkqt  gS] t ks C i j
l edks.k gSA Hkqt kvksa BC, AC rFkk AB ds eè;  fcUnq Øe' k%
M, N , oa P gSaA ; fn APN  dk {ks=ki Qy 2 oxZ l s eh gks
rks ABC  dk {ks=ki Qy gksxkA (oxZ l seh esa)

N

M

P

B

A

C

(A) 16 (B) 12
(C) 8 (D) 4

8. l edks.k f=kHkqt  ABC ( B 90 )    esa AB 3  rFkk
BC 2  gSA ; fn C   gks rks sin dk eku gksxk%

(A)
3
7

(B)
4
7

(C)
3
5

(D)
3

7
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BRANCHES 4

9. A sphere is inscribed in a cone of radius 3 3
and slant height 6 3 . The radius of the sphere is

6 3

3 3

(A)
3 3

2
(B) 3 3

(C) 6 3 (D) 3
10. The three circles in the figure centred at A, B and

C are tangent to one another and have radii 7, 21
and 6 respectively The area of the triangle ABC is

B
C

A

(A) 74 (B) 64
(C) 84 (D) 54

11. Two circles of radii a and b  a b  touch each
other externally. ST is a common tangent touch-
ing the circles at S and T respectively, then 2ST
is equal to -

a

S
T

b

(A) a b (B) 4ab
(C) 2ab (D) ab

9. , d xksyk 3 3  f=kT; k o 6 3  fr jNh Å¡pkbZ okys ' kadq ds
vUnj fLFkr gSA xksys dh f=kT; k gksxh%

6 3

3 3

(A)
3 3

2
(B) 3 3

(C) 6 3 (D) 3
10. rhu òÙk ft uds dsUnz Øe' k% A, B rFkk C gSa , d nwl js dks

Li ' kZ djrs gSA ; fn budh f=kT; k, ¡ Øe' k% 7,21 rFkk 6 gks rks]
f=kHkqt  ABC dk {ks=ki Qy gksxk A

B
C

A

(A) 74 (B) 64
(C) 84 (D) 54

11. nks òÙk ft udh f=kT; k, sa Øe' k% a,b  gS ( t gk¡ a b ) i jLi j
ckgkz Li ' kZ djrs gSA bu òrksa dh mHk; fu"B t hok ST  gS] t ks
bUgsa Øe' k S  rFkk T  fcUnqvksa i j Li ' kZ djrh gS] rks 2ST
fuEu esa l s fdl ds cjkcj gksxk &

a

S
T

b

(A) a b (B) 4ab
(C) 2ab (D) ab
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BRANCHES 5

12. If the numbers a,b,c,d,e form an A.P. then the
value of a 4b 6c 4d e     is :

(A) 0 (B) 1
(C) 2 (D) 3

13. If one root of a quadratic equation with rational

coefficient is 
3 5

10 20 40 5 80
 
      

then quadratic equation is :

(A) 2x 2x 1 0     (B) 2x 2x 3 0  

(C) 2x 2 2 x 1 0   (D) 2x 2x 1 0  

14.  n 11, 2,3, 4,5, 6,..., n 1      consider the se-
quence. What is the average of the first 300 terms
of the sequence -
(A) 0.5 (B) 0.5
(C) 0 (D) 1

15. The value of k for which x k  is a factor of
3 2x kx 2x k 4     is :

(A) 5 (B)
4
3



(C) 2 (D)
6
7

16. If a b c 0,    then

   2 2a b b c
ab bc
 

 + 
 2c a

ca


 is equal to

(A)
1 1 13
a b c

   
 

(B) 3abc

(C)  3 a b c  (D) 3

12. ; fn l a[ ; kW, s a,b,c,d,e l ekUr j  Js<+h esa gkas r ks
a 4b 6c 4d e     dk eku gS %

(A) 0 (B) 1
(C) 2 (D) 3

13. ; fn i fje;  xq.kkadksa okyh f}?kkr l ehdj.k dk , d ewy

3 5
10 20 40 5 80

 
      

 gks rks f}?kkr

l ehdj.k gksxh A

A) 2x 2x 1 0     (B) 2x 2x 3 0  

(C) 2x 2 2 x 1 0   (D) 2x 2x 1 0  

14. v uqØe  n 11, 2,3, 4,5, 6,..., n 1       ds i zFke
300 i nksa dk vkSl r D; k gksxk &
(A) 0.5 (B) 0.5
(C) 0 (D) 1

15. 'k '  ds fdl  eku ds fy,  3 2x kx 2x k 4     dk
, d xq.ku[ k.M x k  gksxk

(A) 5 (B)
4
3



(C) 2 (D)
6
7

16. ; fn a b c 0   rks

   2 2a b b c
ab bc
 

 + 
 2c a

ca


dk eku gksxk%

(A)
1 1 13
a b c

   
 

(B) 3abc

(C)  3 a b c  (D) 3
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BRANCHES 6

17. The sides of an 8 8  square are cut by certain
points into pieces of length 1 and 7, 2 and 6,
3 and 5 and 4 and 4 as shown in figure. The area
of the quadrilateral determined by these four points
are:

71
2

6
35

4

4

(A) 28 (B) 8
(C) 48 (D) 36

18. If the mean of x and 1/ x  is M, then the mean of
2x  and 21/ x  is -

(A) 22M 1 (B)
2M

4
(C) 2M (D) 22M 1

19. If      5 2 /3 x 1
2 2 2 2 ,

 
    then the

value of x is :

(A)
2
3 (B)

15
3

(C)
14
3 (D)

11
3

20. If a bicycle wheel has 48 spokes the angle
between the adjacent pair spokes is :

(A)
17
2

  
 

(B)
17
3

  
 

(C)
16
2

  
 

(D)
26
3

  
 

17. , d 8 8  Hkqt k okys oxZ dks fp=kkuql kj fuf' pr fcUnqvks l s
1 o 7] 2 o 6] 3 o 5 rFkk 4 o 4 yEckbZ; ksa ds VqdM+ks esa dkVk
t krk gSA bu pkj fcUnqvks }kjk cus prqHkqZt  dk {ks=ki Qy gksxkA

71
2

6
35

4

4

(A) 28 (B) 8

(C) 48 (D) 36

18. ; fn x  rFkk 1/ x  dk ekè;  M  gks rks 2x  rFkk 21/ x  dk
ekè;  gksxk &

(A) 22M 1 (B)
2M

4

(C) 2M (D) 22M 1

19. ; fn      5 2 /3 x 1
2 2 2 2 ,

 
   rks x dk eku

gksxk%

(A)
2
3 (B)

15
3

(C)
14
3 (D)

11
3

20. ; fn , d l kbfdy ds i fg; s esa 48 rkj gksa] rks ml ds vkl Uu rkjksa
dk eè;  dks.k gksxk%

(A)
17
2

  
 

(B)
17
3

  
 

(C)
16
2

  
 

(D)
26
3

  
 
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BRANCHES 7

21. If ABCD is a parallelogram, CS and BS are the
bisectors of C  and B  respectively, then the
measure of S  will be:

D

A

S

B

C

(A) 85 (B) 60°
(C) 90° (D) 45°

22. If 
2 2

2 2

b ab b abx ,
b ab b ab
  


  

 then the value of

2ax 2bx  is:
(A) – a (B) b
(C) a (D) – b

23. In an A.P. 5 times the 5th term is equal to 8 times
the 8th term, then its 13th term is
(A) –13 (B) –1
(C) 1 (D) 0

24. ABC  is an equilateral triangle of side 2 3 cm.
P is any point in the interior of ABC . If x, y, z
are the distances of  P from the sides of the tri-
angle, then x + y + z =

(A) 2 3 cms. (B) 5 cms.
(C) 3 cms. (D) 4 cms.

25. The mean of n number is M. If 1 is added to the
first number, 2 is added to the second number,
........., n is added to the nth number then the new
mean is

(A)
n 1M

2


 (B)
nM
2



(C) M + n (D) None of these

21. ; fn  ABCD , d l ekarj prqHkqZt  gS] CSvkSj BS Øe' k%
C vkSj B  ds l ef}Hkkt d gSa] rks S dk eki  gksxk

D

A

S

B

C

(A) 85 (B) 60°
(C) 90° (D) 45°

22. ; fn 
2 2

2 2

b ab b abx ,
b ab b ab
  


  

rks 2ax 2bx dk

eku gksxk%
(A) – a (B) b
(C) a (D) – b

23. , d l -Js- esa 5osa i n dk 5 xquk 8osa i n ds 8 xquk
ds cjkcj gS rks bl dk 13oka i n-------gksxk
(A) –13 (B) –1
(C) 1 (D) 0

24. ABC  , d l eckgq f=kHkqt  gS ft l dh Hkqt k
2 3 cm. gSA f=kHkqt  ABC ds vanj P  dksbZ fcUnq
gSA ; fn x, y, z fcUnq P l s f=kHkqt  dh Hkqt kvksa l s
nwfj; k¡ gSa rks x + y + z =

(A) 2 3 cms. (B) 5 cms.

(C) 3 cms. (D) 4 cms.
25. n l a[ ; kvksa dk ekè;  M gSA ; fn i gyh l a[ ; k esa 1

t ksM+k t k, ] nwl jh l a[ ; k esa 2 t ksM+k t k, ] ----------]
noha l a[ ; k esa n t ksM+k t k,  rks u; k ekè;  ------ gksxk

(A)
n 1M

2


 (B)
nM
2



(C) M + n (D) buesa l s dksbZ ugha
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BRANCHES 8

26. The square of an odd integer must be of the form
(A) 8n + 1
(B) 6n + 3
(C) 6n + 1
(D) 4n + 1 but may not be 8n + 1

27. A bag contains 5 red and some blue balls. If the
probability of drawing a blue ball is three times
the probability of drawing a red ball then the num-
ber of blue balls in the bag is .........
(A) 10 (B) 12
(C) 15 (D) 8

28. The surface area of a cylindrical pipe, open at
both ends is 200 sq.m.  The difference between
its radius and length is 15m, the length being larger.
If the pipe was closed at one end, the amount of
water that it can hold is,
(A) 500  cu.m (B) 525  cu.m
(C) 550   cu. m (D) 600  cu.m

29. If Sin x + Sin2 x = 1 then
cos8x + 2 cos6x + cos4x = .........
(A) 0 (B) –1
(C) 2 (D) 1

30. Find value of

1 1 1 1 1.....
2 3 3 4 4 5 5 6 99 100

    
    

(A)
12
25 (B)

51
100

(C)
1
2 (D)

49
100

26. fo"ke i w.kk±d dk oxZ fuEu : i  esa gksxk
(A) 8n + 1
(B) 6n + 3
(C) 6n + 1
(D) 4n + 1 fdUrq 8n + 1 ugha gks l drk

27. , d FkSys esa 5 yky , oa dqN uhyh xsan gSaA ; fn
uhyh xsan dks fudkyus dh i zkf; drk] , d yky xsan
dks fudkyus dh i zkf; drk dh rhu xquh gS] rks FkSys
esa uhyh xsanks dh l a[ ; k gS-----------
(A) 10 (B) 12
(C) 15 (D) 8

28. , d csyukdkj i kbi ] t ks nksuksa rj i Q [ kqyh gS] dk
i "̀B {ks=ki Qy 200  oxZ eh- gSA bl dh f=kT; k , oa
yackbZ dk vUrj 15 eh- gS] t gk¡ yackbZ] f=kT; k l s
cM+h gSA ; fn i kbi  dks , d rj i Q l s can dj fn; k
t k,  rks bl esa i kuh dh ek=kk---------vk, xhA
(A) 500  ?ku eh- (B) 525  ?ku eh-
(C) 550  ?ku eh- (D) 600  ?ku eh-

29. ; fn Sin x + Sin2 x = 1 rks
cos8x + 2 cos6x + cos4x = .........
(A) 0 (B) –1
(C) 2 (D) 1

30. eku fudkysaµ
1 1 1 1 1.....

2 3 3 4 4 5 5 6 99 100
    

    

(A)
12
25 (B)

51
100

(C)
1
2 (D)

49
100
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BRANCHES 9

31.
Magnetic

field

Electron
An electron enters a magnetic field at right angle
to it as shown in figure. The direction of the force
acting on the electron will be
(A) To the right
(B) To the left
(C) Going into the paper at right angle
(D) Coming out of paper at right angle

32. If the velocity of a wave is 400m/ sec  and fre-
quency is 100 Hz, then the wavelength of the wave
is ....
(A) 6 m (B) 2.8 m
(C) 3 m (D) 4 m

33. Three equal resistors connected in series across
a source of V voltage together dissipates 5 W
power. If the same resistors are connected in par-
allel across the same source of voltage V, the
power dissipated will be
(A) 45 W (B) 25 W
(C) 40 W (D) 20 W

34. Every hot object emits
(A) Infrared rays
(B) Visible rays
(C) X-rays
(D) ultraviolet rays

35. The distance between the objective lens and the
eye - piece of an astronomical telescope will be

(A)
0

e

f
f (B)

e

0

f
f

(C) 0 ef f (D) 0 ef f

31.
pqEcdh;  {ks=k

bysDVªkWu
fp=k ds vuql kj dksbZ bysDVªkWu fdl h pqEcdh;  {ks=k
esa {ks=k dh fn' kk ds yEcor~ i zos' k djrk gSA
bysDVªkWu i j  yxus okys cy dh fn' kk gksxhµ
(A) nk; ha vksj
(B) ck; ha vksj
(C) dkxt  esa Hkhrj dh vksj t krs gq; s yEcor~
(D) dkxt  l s ckgj dh vksj vkrs gq; s yEcor~

32. fdl h rjax dk osx 400 eh-@l s- gS vkSj ml dh
vkòfÙk 100 Hz gS] rks ml dh rjax nSè; Z gksxhµ
(A) 6 ehVj (B) 2-8 ehVj
(C) 3 ehVj (D) 4 ehVj

33. rhu l eku i zfrjksèkdksa dks Js.kh Øe esa V oksYVrk ds
l zksr l s t ksM+us i j  5 W ' kfDr ßkl  gksrk gSA mu
l eku i zfrjksèkdksa dks l ekUrj Øe esa V oksYVrk ds
l zksr l s t ksM+us i j  ' kfDr ßkl  gksxk
(A) 45 W (B) 25 W
(C) 40 W (D) 20 W

34. i zR; sd xeZ oLrq l s mRl t Zu gksrk gS
(A) vojDr fdj.kksa dk
(B) ǹ' ;  fdj.kksa dk
(C) X-fdj.kksa dk
(D) i jkcSxuh fdj.kksa dks

35. vfHkǹ' ; d ysUl  , oa vfHkus=k ysUl  ds eè;  dh
nwjh] [ kxksyh;  nwjn' kZd ds fy,  gksxh

(A)
0

e

f
f (B)

e

0

f
f

(C) 0 ef f (D) 0 ef f

SCIENCE
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36. The focal length of a concave mirror is ‘f’ and the
distance from the object to the principal focus is
‘p’. The ratio of the size of the image to the size of
the object is :

(A)
p
f (B)

2

2

f
p

(C)
f
p (D)

f
p

37. A 1 kg mass has a kinetic energy of 1 joule when
its speed is -
(A) 11ms (B) 14.4ms

(C) 11.4ms (D) 10.45ms
38. A convex lens forms a real image of a point

object placed on its principal axis. If the upper
half of the lens is cut
(A) The image will be shifted downward
(B) The image will be shifted upward
(C) The intensity of the image will decrease
(D) None of the above

39. When a bulb is connected to 30 V battery, 0.5A cur-
rent flows through it. The resistance of the bulb is :
(A) 15 (B) 60
(C) 150 (D) 30

40. A piece of iron has dimensions 3cm 1.5cm
6cm.  If its mass is 205.2 gms, its density is :

(A) 35.6gm cm (B) 38.4gm cm

(C) 376gm cm (D) 37.6gm cm

41. A convex mirror has a focal length of 10cm. A
real object is placed at a distance of 10cm from
pole produces an image at :
(A) infinity (B) 20cm
(C) 10 cm (D) 5 cm

36. , d voÙky ni Z.k dh i Qksdy nwjh ‘f’ gS] dksbZ oLrq eq[ ;
i Qksdl  l s ‘p’ nwjh i j j[ kh gS] i zfrfcEc dh m¡pkbZ rFkk oLrq
dh m¡pkbZ dk vuqi kr gksxk%

(A)
p
f (B)

2

2

f
p

(C)
f
p (D)

f
p

37. 1 kg nzO; eku dh xfrt  Åt kZ 1  t wy gksxh] t c bl dh pky
gks&

(A) 11ms (B) 14.4ms

(C) 11.4ms (D) 10.45ms

38. , d mÙky ysal  fdl h oLrq dk okLrfod i zfrfcEc
cukrk gSA vxj ysal  dk Åi jh vkèkk fgLl k dkV
fn; k t k;  rksµ
(A) i zfrfcEc uhps f[ kl d t k, xkA
(B) i zfrfcEc Åi j  f[ kl d t k; xkA
(C) i zfrfcEc dh rhczrk de gks t k; sxhA
(D) buesa l s dksbZ Hkh ughaA

39. t c , d cYc dks 30 oksYV dh cSVjh l s t ksM+rs gsS rks bl esa  0.5
, fEi ; j / kjk i zokfgr gksrh gSA cYc dk i zfr jks/  gksxk%
(A) 15 (B) 60
(C) 150 (D) 30

40. , d yksgs ds VqdM+s dk vkdkj 3cm 1.5cm  6cm.  gSA ; fn
bl dk nzO; eku 205.2 xzke gS] rks bl dk ?kuRo fdruk gksxk \
(A) 5.6 xzke × l seh–3 (B) 8.4 xzke × l seh–3

(C) 76 xzke × l seh–3 (D) 7.6 xzke × l seh–3

41. , d mÙky ni Z.k dh i Qksdl  nwjh 10 l seh- gSA , d okLrfod
fcEc bl l s] 10 l seh- nwjh i j j[ kk gSA i zfrfcEc dh fLFkfr gksxh%
(A) v uUr (B) 20 l seh-
(C) 10 l seh- (D) 5 l seh-



42. , d vk; rkdkj rk¡cs dk dq.Myh (coil) pqacdh;  {ks=k
esa ?kqek; k t k jgk gSA rk¡cs ds rkj esa i zsfjr èkkjk dh
fn' kk cnyrh gSµ
(A) gj , d pDdj esa   (B)  gj nks pDdj esa
(C) vkèks pDdj esa     (D) , d pkSFkkbZ pDdj esa

43. fuEu esa l s dkSul k xzki Q Lora=k : i  l s fxjrh gqbZ oLrq dh dwy
Åt kZ (T) o bl dh / jkry l s ÅpkbZ ds eè;  oØ i znf' kZr
djrk gS%

(A)
h

T (B)
h

T

(C)
h

T (D)
h

T

44. t c , d i fjukfydk l s i zokfgr / kjs dks fu; r nj l s c<+k; k
t krk gS rks i zsfjr / kjk%
(A) l e;  ds l kFk c<+sxh rFkk i zsfjr djus okyh / kjk dh

foi jhr fn' kk esa gksxh
(B) fu; r rFkk i zsfjr djus okyh / kjk dh foi jhr fn' kk esa gksxh
(C) l e;  ds l kFk c<+sxh rFkk i zsfjr djus okyh / kjk dh fn' kk

esa gksxh
(D) fu; r rFkk i zsfjr djus okyh / kjk dh fn' k essa gksxh

45. ySUt  dk fu; e fuEu esa l s fdl ds l aj{k.k ds fu; e dks
i zfr i kfnr djrk gS%
(A) mt kZ (B) l aosx
(C) dks.kh;  l aosx (D) vkos' k vkSj nzO; eku

46. t c , d chVk d.k mRl ft Zr gksrk gS rks v fHkfØ; k ds ckn
i jek.kq dh i jek.kq l a[ ; k%
(A) , d bdkbZ c<+ t krh gS
(B) , d bdkbZ de gks t krh gS
(C) i gys ds l eku jgrh gS
(D) vk/ h gks t krh gS

47. , d bysDVªkWu 5 Vsl yk ds pqEcdh;  {ks=k esa 104 eh-@l s- ds osx
l s xfreku gS rks bl  i j yxus okyk v f/ dre~ cy gksxk%

(A) 191.6 10 U; wVu (B) 410  U; wVu

(C) 158 10  U; wVu (D) 45 10  U; wVu

42. A rectangular coil of copper wire is rotated in a
magnetic field. The direction of the induced cur-
rent changes once in each
(A) revolution (B) two revolutions
(C) half revolution
(D) one fourth of a revolution

43. Which of the following graphs best represents the
total energy (T) of a freely falling body and its
height (h) above the ground ?

(A)
h

T (B)
h

T

(C)

h

T (D)
h

T

44. When the current through a solenoid increases at
a constant rate, the induced current:
(A) increases with time and is opposite to the

direction of inducing current
(B) is a constant and is opposite to the direction

of inducing current
(C) increases with time and is in the direction of

inducing current
(D) is a constant and in the direction of inducing

current
45. Lenz’s law is a consequence of the law of

conservation of :
(A) energy (B) momentum
(C) angular momentum
(D) charge and mass

46. When a beta particle is given out, then the atomic
number of the atom after reaction
(A) Increases by unity (B)  Decreases by unity
(C) Remains the same (D)  is halved

47. An electron is moving with velocity 410 m / s  in a
magnetic field of 5 tesla. The maximum force on
electron is:
(A) 191.6 10 N (B) 410 N
(C) 158 10 N (D) 45 10 N
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48. Compute the value of battery current in the circuit
shown below :

12V

(A) 8A (B) 6A
(C) 3A (D) 10A

49. The value of current I and voltage V in the given
circuit will be

V
+

12 V

2 

2 

6  2 

I

(A) 1A, 2V (B) 4A, 2V
(C) 2A, 4V (D) 2A, 1V

50. Fission is splitting of the nucleus into two nuclei.
The fission products have:
(A) the same atomic number
(B) lower atomic number
(C) the same atomic mass
(D) higher atomic mass

51. There is a mixture of three solid compounds A, B
and C. Out of these compounds A and C are
soluble in water and compound C is sublimable
also. In what sequence the following techniques
can be used for their effective separation ?
I. Filtration
II. Sublimation
III. Crystallisation from water extract
IV. Dissolution in water
(A) II, I, IV, III (B) IV, I, II, III
(C) I, II, III, IV (D) II, IV,I, III

48. i znf' kZr i fj i Fk essa cSVjh l s i zkzIr / kjk dk eku Kkr dhft ; s%

12V

(A) 8A (B) 6A
(C) 3A (D) 10A

49. fn,  x,  i fj i Fk fp=k esa èkkjk I rFkk V ds eku gksaxs

V
+

12 V

2 

2 

6  2 

I

(A) 1A, 2V (B) 4A, 2V
(C) 2A, 4V (D) 2A, 1V

50. , d ukfHkd dk nks ukfHkdksa esa VwVus dh i zfØ; k fo[ k.Mu
dgykrh gSA fo[ k.Mu mRi kn gksrs gS%
(A) l eku i jek.kq l a[ ; k okys
(B) fuEuÙkj i jek.kq l a[ ; k okys
(C) l eku i jek.kq Hkkj okys
(D) mPpÙkj i jek.kq Hkkj okys

51. , d rhu Bksl  ; kSfxdksa A, B , oa C dk feJ.k gSA
bl esa ; kSfxd A , oa C t y esa foys;  gSa rFkk C
mèoZi kruh;  Hkh gSA buds i zHkkoh i F̀kDdj.k ds fy,
fdl  Øe esa rduhdksa dk i z; ksx fd; k t k l drk gSA
I. fuL; anu
II. mèoZi kru
III. t yh;  foy; u l s fØLVyu
IV. t y esa foys; hdj.k
(A) II, I, IV, III (B) IV, I, II, III
(C) I, II, III, IV (D) II, IV,I, III
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52. An element X has 7 electrons in its L shell. What
is true about the element X ?
I. It belongs to period 9 of modern periodic

table
II. Its atom contains 9 protons
III. It has a valency of 7
IV. Its atoms can accept an electron to acquire

noble gas configuration.
(A) I and II (B) II and III
(C) III and IV (D) II and IV

53. A metal carbonate X on treatment with a mineral
acid liberates a gas which when passed through
aqueous solution of a substance Y gives back X.
The substance Y on reaction with the gas obtained
at anode during electrolysis of brine gives a com-
pound Z which can decolorise coloured fabrics.
The compounds X, Y and Z respectively are

(A)  3 2 2CaCO ,CaOCl ,Ca OH

(B)   22Ca OH ,CaO,CaOCl

(C)  3 22CaCO ,Ca OH ,CaOCl

(D)   3 22Ca OH ,CaCO ,CaOCl
54. A compound X is obtained by the reaction of

alkaline 4KMnO  with another compound YY
followed by acidification. Compound X also
reacts with compound Y in presence of few drops
of 2 4H SO  to form a sweet smelling compound
Z. The compound X, Y and Z are, respectively
(A) Ethanol, Ethene, Ethanoic Acid
(B) Ethanoic Acid, Ethanol, Ethyl ethanoate
(C) Ethanoic Acid, Ethanol, Ethene
(D) Ethanol, Ethanoic Acid, Sodium Ethanoate

55. Which of the following pairs of compounds of
carbon will undergo combustion as well as
addition reaction ?
(A) 4CH  and 2 6C H

(B) 2 6C H O  and 3 8C H O

(C) 2 4 2C H O  and 3 6C H O

(D) 2 2C H  and 3 6C H

52. , d rRo X ds L dks' k esa 7 bysDVªkWu gSa] rRo X ds
fy,  dkSu&l s dFku l R;  gS\
I. ; g vkèkqfud vkorZ l kj.kh ds 9osa vkorZ dk

l nL;  gSA
II. bl ds i jek.kq esa 9 i zksVkWu gksrs gSaA
III. bl dh l a; ksdrk 7 gSA
IV. bl dk i jek.kq , d bysDVªkWu xzg.k dj vØh;

xSl  dk foU; kl  i zkIr dj ysrk gSA
(A) I rFkk II (B) II rFkk III
(C) III rFkk IV (D) II rFkk IV

53. , d èkkfRod dkcksZusV X, , d [ kfut  vEy l s fØ; k
dj , d xSl  eqDr djrk gS ft l s Y i nkFkZ ds t yh;
foy; u l s i zokfgr djrs gSa rks i qu% X i zkIr gksrk gSA
i nkFkZ Y, yo.k t y ds fo| qr v i ?kVu }kjk , uksM
i j i zkIr gksus okyh xSl  l s vfHkfØ; k dj ; kSfxd Z
nsrk gSA ; kSfxd Z jaxhu di M+ksa dk fojat u dj
l drk gSA ; kSfxd X, Y rFkk Z Øe' k% gSaµ
(A)  3 2 2CaCO ,CaOCl ,Ca OH

(B)   22Ca OH ,CaO,CaOCl

(C)  3 22CaCO ,Ca OH ,CaOCl

(D)   3 22Ca OH ,CaCO ,CaOCl
54. {kkjh;  KMnO4 ; kSfxd Y dh vfHkfØ; k ds i ' pkr

vEyhdj.k }kjk ; kSfxd X i zkIr gksrk gSA l YÝ; qfjd
vEy dh dqN cwanksa dh mi fLFkfr esa ; kSfxd X,
; kSfxd Y l s v fHkfØ; k dj eèkqj xaèk; qDr ; kSfxd Z
cukrk gSA ; kSfxd X, Y rFkk Z Øe' k% gSa
(A) , sFksuksy] , Fkhu] , Fkuksbd vEy
(B) , Fkuksbd vEy] , Fksuksy] , fFky , Fksuks, V
(C) , Fkuksbd vEy] , Fkuy] , Fkhu
(D) , Fkuksy] , Fkuksbd vEy] l ksfM; e , Fksuks, V

55. fuEu esa l s dkcZu ds ; kSfxdksa dk dkSu&l k ; qXe ngu
, oa ; ksx nksuksa vfHkfØ; k nsxk\
(A) 4CH  rFkk 2 6C H

(B) 2 6C H O  rFkk 3 8C H O

(C) 2 4 2C H O  rFkk 3 6C H O

(D) 2 2C H  rFkk 3 6C H
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56. An element X combines with hydrogen to form a
compound 3XH . The element X is placed on the
right side of the periodic table. What is true about
the element X ?
A. Has 3 valence electrons
B. Is a metal and is solid
C. Is a non - metal and is a gas
D. Has 5 valence electrons
E. 3XH  reacts with water to form a basic com-

pound
(A) A,B and C
(B) B,C and D
(C) C,D and E
(D) E,A and B

57. An element X (atomic number 12) reacts with
another clement Y (atomic number 17) to form a
compound Z. Which of the following statements
are true regardinng this compound ?
I. Molecular formula of  Z is 2XY
II. It is soluble in water
III. X and Y are joined by sharing of electrons
(IV) It would conduct electricity in the molten

state
(A) II and III
(B) I and III
(C) I, III and IV
(D) I, II and IV

58. The general electronic configuration of transition
metal is

(A) 2 2 1 10ns np nd 

(B)  2 1 1 10ns np n 1 d 

(C)  2 6 1 10ns np n 1 d 

(D)  1 2 1 10ns n 1 d 
59. Which of the following is paramagnetic ?

(A) 2 6Cl O (B) 2 7Cl O

(C) 2Cl O (D) 2ClO
60. Which pair of atomic number represent S -block

element
(A) 7,15 (B) 6,14
(C) 9,17 (D) 4,12

56. , d rRo X gkbMªkst u esa ; ksx dj ; kSfxd NH3
cukrk gSA rRo X vkorZ l kj.kh esa nk¡bZ rj i Q j[ kk
x; k gSA rRo X ds fy,  D; k l R;  gS\
A. bl esa 3 l a; kst h bySVªkWu gSaA
B. ; g èkkrq gS rFkk Bksl  gSA
C. ; g vèkkrq gS rFkk xSl  gSA
D. bl esa 5 l a; kst h bySDVªkWu gSaA
E. XH3 t y l s vfHkfØ; k dj {kkjh;  ; kSfxd

nsrk gSA
(A) A,B rFkk C
(B) B,C rFkk D
(C) C,D rFkk E
(D) E,A rFkk B

57. , d rRo X ( i jek.kq l a[ ; k 12)  vU;  rRo Y
( i jek.kq l a[ ; k 17)  l s vfHkfØ; k dj , d ; kSfxd
Z nsrk gS ; kSfxd Z ds fy,  fuEu esa l s dkSu l s dFku
l R;  gSa\
I. Z dk v.kql w=k XY2 gS
II. ; g t y esa foys;  gS
III. X rFkk Y bySDVªksuksa ds l k>snkjh l s t qM+s gSaA
IV. bl dh xfyr voLFkk l s fo| qr dk pkyu

gksxkA
(A) II rFkk III (B) I rFkk III
(C) I, III rFkk IV (D) I, II rFkk IV

58. l aØe.k èkkrqvksa dk l kekU;  bysDVªkWfud foU; kl  gSA
(A) 2 2 1 10ns np nd 

(B)  2 1 1 10ns np n 1 d 

(C)  2 6 1 10ns np n 1 d 

(D)  1 2 1 10ns n 1 d 

59. buesa l s dkSu v.kq pqEcdh;  gS\
(A) 2 6Cl O (B) 2 7Cl O

(C) 2Cl O (D) 2ClO
60. i jek.kq Øekadksa dk dkSu l k ; qXe S-CykWd rRoksa dks

n' kkZrk gSµ
(A) 7,15 (B) 6,14
(C) 9,17 (D) 4,12
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61. Valency of carbon in 2
3CO   ion is

(A) 2 (B) 3 (C) 4 (D)  5
62. Nature of aqueous solution of salt obtained by

the reaction of strong acid and strong base is
(A) Acidic (B) Basic
(C) Neutral (D) Amphoteric

63. Number of moles in 128gm of sulphur will be
(A) 0.5 (B) 2
(C) 4 (D) 8

64. The bond, in compound formed from combina-
tion of 14 group and 17 group elements of  Peri-
odic table will be ......
(A) Electrovalent bond
(B) Co-ordinate bond
(C) Van der Waals bond
(D) Covalent bond

65. In Haber process of Ammonia production, the
element used as catalytic promotor to increase
the activity of Iron catalyst is
(A) Ni (Nickel) (B) W (Tungston)
(C) V (Vanadium) (D) Mo (Molybdenum)

66. Which element forms maximum multiple bonds?
(A) N (B)P (C) As (D)Bi

67. Which is the correct order of decreasing reactiv-
ity of metals ?
(A) K Na Cu Au  
(B) Na Au Cu K  
(C) Cu Na K Au  
(D) Au Cu Na K  

68. Number of 2Ca   and Cl  ions in anhydrous 111g1g

2CaCl  are :

(A) A AN , 2N (B) A A2N , N

(C) A AN , N (D) None of these

69. An element belongs to groups 17. It is present in
third period and its atomic number is 17. What is
the atomic number of the element belonging to
same group and present in fifth period ?
(A) 85      (B) 17 (C) 35       (D) 53

70. Biogas is a mixture of :

(A) 4CO CH (B) 2CO H

(C) 2 4CO CH (D) 2CO N

61. 2
3CO   vk; u esa dkcZu dh l a; kst drk gSµ

(A) 2 (B) 3 (C) 4 (D)  5
62. l kaæ vEy rFkk l kaæ {kkj dh vfHkfØ; k l s cus

yo.k ds t yh;  foy; u dh i zÑfr gksxhµ
(A) vEyh; (B) {kkjh;
(C) mnkl hu (D) mHk; èkehZ

63. 128 xzke l Yi Qj esa eksyksa dh l a[ ; k gksxhµ
(A) 0.5 (B) 2
(C) 4 (D) 8

64. vkorZ l kfj .kh ds l ewg 14 ds rRo , oa l ewg 17
ds rRo ds l a; ksx i j  cuus okys ; kSfxd esa caèk
gksxkµ
(A) oS| qr l a; kst h caèk
(B) mi l gl a; kst h caèk
(C) okUMjokWy caèk
(D) l gl a; kst h caèk

65. veksfu; k fuekZ.k dh gScj fofèk esa l fØ; rk c<+kus ds
fy,  yksgk mRi zsjd oèkZd ds : i  esa i z; qÙkQ gksrk gSµ
(A) Ni ( fudy) (B) W (VaxLVu)
(C) V (osusfM; e) (D) Mo (ekWfyfCMue)

66. dkSu l k rRo vfèkdre cgqcaèk cukrk gSµ
(A) N (B)P (C) As (D)Bi

67. fuEu esa l s dkSul h / krqvksa dh fØ; k' khyrk ds ?kVrs gq,  Øe
dh l gh n' kkZrk gS\
(A) K Na Cu Au  
(B) Na Au Cu K  
(C) Cu Na K Au  

(D) Au Cu Na K  

68. 111g fut Zy 2CaCl  esa 2Ca  vkSj Cl  vk; al  dh l a[ ; k gSA

(A) A AN , 2N (B) A A2N , N

(C) A AN , N (D) buesa l s dksbZ ugha

69. , d rRo oxZ 17 esa gS A bl dk vkoZr ua 3 rFkk i jek.kq Øekad
17 gSA ml  rRo dk i jek.kq Øekad D; k gksxk t ks i gys rRo ds
l eku oxZ esa rFkk i k¡pos vkoZr esa mi fLFkr gSA
(A) 85      (B) 17 (C) 35       (D) 53

70. t So xSl  fuEu dk feJ.k gS%

(A) 4CO CH (B) 2CO H

(C) 2 4CO CH (D) 2CO N
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71. Photosynthesis in an aquatic plant was measured
by counting the number of O2 bubbles coming out
of the cut end of the plant. What will happen to
O2 production if you use a pipe to blow air from
your mouth into water in the beaker ?

(A) A ir from mouth contains O2 which is being
added to the plant. Hence increase in O2
production.

(B) Air from mouth contains CO2 which is uti-
lized in photosynthesis. Hence increase in
O2 production occurs.

(C) Bacteria from mouth will infect plant. Hence
couse reduction in O2 production.

(D) Water is already in contact with air. Hence
air from mouth will have no effect.

72. A group of inter connected food chains is called–
(A) Food cycle
(B) Pyramid of energy
(C) Complex food chain
(D) Food web

73. Which nitrogenous base is absent in D.N.A. ?

(A) Adenine (B) Guanine

(C) Uracil (D) Cytosine
74. Nucleic acid is fragmented by which enzyme -

(A) Ligases (B) Proteases
(C) Polymerases (D) Nucleases

75. Fossils are found in ...............

(A) Sedimentary rocks

(B) Igneous rocks

(C) Metamorphic rocks

(D) All of the above

71. , d t yh;  i kni  esa i kni  ds dVs fl js l s fudyus
okyh vkWDl ht u ds cqycqyksa dh l a[ ; k fxudj
i zdk' k l a' ys"k.k dk vkdyu fd; k t krk gSA ; fn
vki  chdj esa mi fLFkr i kuh esa eq[ k }kjk i kbi  l s
ok; q Hkst sa rks vkWDl ht u mRi knu dk D; k gksxk\

(A) eq[ k }kjk Hkst h xbZ ok; q esa vkWDl ht u gksrh gS
t ks i kni  esa l fEefyr gksrh gSA vr% vkWDl ht u
mRi knu dks c<+krh gSA

(B) eq¡g }kjk Hkst h xbZ ok; q esa CO2 gksrh gS t ks
i zdk' k&l a' ys"k.k ds fy,  mi ; ksx esa vkrh gS
vr% O2 ds mRi knu dks c<+krh gSA

(C) eq¡g ds t hok.kq i kni  dks l aØfer djrs gSaA
vr% O2 ds mRi knu dks de djrs gSaA

(D) t y] gok ds i gys l s gh l ai dZ esa gS vr% eq¡g
dh ok; q dk dksbZ i zHkko ugha gksxkA

72. varj l acafèkr [ kk|  Jà[ kykvksa dk l ewg dgykrk gSµ
(A) [ kk|  pØ     (B) Åt kZ dk fi jkfeM
(C) t fVy [ kk|  Jà[ kyk (D) [ kk|  t ky

73. Mh-, u- , - esa dkSu&l k ukbVªkst uh {kkj vuqi fLFkr
gksrk gSµ
(A) , Mhukbu (B) xqvkfuu
(C) ; wjsfl y (D) l kbVksfl u

74. fuEufyf[ kr esa l s dkSul k , Ut kbe U; wfDyd vEy dks VqdM+kas
esa rksM+rk gS\
(A) ykbxst (B) i zksfV, t
(C) i kWyhejst (D) U; wfDy, t

75. t hok' e i k; s t krs gSaµ
(A) vol kjh pV~Vkuksa esa
(B) vkXus;  pV~Vkuksa esa
(C) dk; kUrfjr pV~Vkuksa esa
(D) mi ; qZDr l Hkh esa
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76. Why are honeybees so important ?
(A) They are excellent pollinators
(B) They show a high degree of social life

(C) They have a stinger
(D) They produce bee wax

77. In the process of budding, when bud forms out-
side it is called as
(A) uncertain budding
(B) endogenous budding
(C) exogenous budding
(D) none of these

78. Leaves respire with the help of
(A) lenticles (B) stomata
(C) plasmodesmata (D) cuticle

79. The wavelength of light used in photosynthesis ?
(A) 400 - 700 nm (B) 300 - 400 nm
(C) 800 - 1000 nm (D) all of the above

80. Which of the following is an excretory organ of
cockroach
(A) Liver (B) Nephron
(C) Flame cell (D) Malpighian tubules

81. Which one of the following does not produce any
digestive enzyme?
(A) Pancreas (B) Liver
(C) Salivary gland (D) Gastric gland

82. What will be the ratio of dominant and recessive
character in second filial generation of monohy-
brid cross done by the mendal–
(A) 2 : 3 (B) 1 : 3
(C) 3 : 1 (D) 3 : 2

83. Lichens indicate 2SO  pollution because they
(A) Show association between algae and fungi
(B) grow faster than others

(C) are sensitive to 2SO

(D) flourish in 2SO  rich environment
84. If the surface area for gaseous exchange in lungs

is reduced due to excessive smoking, this condi-
tion is called as
(A) emphysema (B) pneumonia
(C) asthma (D) tuberculosis

76. e/ qeD[ kh mi ; ksxh gS] D; ksafd
(A) os i jkx.k gsrq csgrjhu t ho gSa A
(B) ; s cgqr gh l kekft d t ho gaSA
(C) muesa fLVx gksrs gaSA
(D) ; s oSDl  i znku djrs gaSA

77. eqdqyu dh og i zfØ; k ft l esa ckâ;  dfydk fufeZr gksrh gS D; k
dgykrh gS
(A) v fuf' pr eqdqyu (B) vkarfjd eqdqyu
(C) ckà;  eqdqyu (D) buesa l s dksbZ ugha

78. i fÙk; ksa esa ' ol u gksrk gSµ
(A) okrjaèkzksa l s (B) jaèkzksa l s
(C) Iykt +eksMsLesVk l s (D) D; wfVdy l s

79. i zdk' k l a' ys"k.k esa dke vkus okyh i zdk' k r jax nSè; Z gS\
(A) 400 – 700 nm (B) 300 - 400 nm
(C) 800 – 1000 nm(D) mi jksDr l Hkh

80. dkWdjksp esa i k; k t kus okyk mRl t Zu vax dkSu l k gS&
(A) ; dr̀ (B) usi zQksu
(C) Tokys dksf' kdk (D) eSYi h?kh ufydk, sa

81. fuEufyf[ kr esa l s fdl ds }kjk fdl h Hkh i kpd , Ut kbe dk
L=kko.k ugha gksrk gS\
(A) vXuk' k; (B) ; dr̀
(C) ykj xzfUFk (D) t Bj xzfUFk

82. eS.My }kjk fd,  x,  , d l adjØkWl  ds i QyLo: i
i zkIr f}rh;  l arfr i h<+h esa i zHkkoh o v i zHkkoh y{k.k
fdl  vuqi kr esa oa' kkuqxr gksaxsµ
(A) 2 : 3 (B) 1 : 3
(C) 3 : 1 (D) 3 : 2

83. ykbdsu 2SO  i znw"k.k i znf' kZr djrh gSa D; ksafd &
(A) os dod o ' kSoky ds eè;  l a; kst u i znf' kZr djrs gSaA
(B) vU;  l s v f/ d rhozrk l s òf¼ djrs gSA
(C) 2SO ds i zfr l aosnh gksrs gSaA

(D) 2SO vkf/ D;  okys okrkoj.k esa òf¼ djrs gSaA
84. vR; f/ d / wezi ku ds dkj.k ok; q dks"kksa dh nhokjksa dk {k;  rFkk

i Qsi QM+ksa dh xSl h;  vknku & i znku dh {kerk dk de gksuk D; k
dgykrk gS\
(A) , Ei Qkbl hek (B) fueksfu; k
(C) nek (D) {k;  jksx
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BRANCHES 18

85. t arqvksa ds fy,  i zksVhu ds L=kksr ds : i  esa VSadks es mxk; k t kus okyk
rhoz òf¼ djus okyk gkfu jfgr l k; ukscSDVhfj; k dkSul k gS\
(A) l k; Vksfuek (B) Li kb: fyuk
(C) uksLVksd (D) vksfl ysVksfj; k

86. , d ekr  ̀dksf' kdk l s 256 i q=kh dksf' kdkvksa ds fuekZ.k ds fy,
fdruh i h<+h rd l el w=kh foHkkt u vko' ; d gS\
(A) 16    (B) 8 (C) 32 (D) 64

87. fuEufyf[ kr esa l s dkSul k dFku l gh gS\
(A) dsf' kdk, ¡ mÙkdksa dks jDr nsrh gaSA
(B) f' kjk, ¡ mÙkdksa dks jDr nsrh gSaA
(C) / efu; ka mÙkdksa l s jDr , df=kr djrh gaSA
(D) mi jksDr esa l s dksbZ ugh

88. RNA  fdl esa vuqi fLFkr gksrk gS\
(A) jkbcksl kse esa (B) dksf' kdk nzO;  esa a
(C) IykTek f>Yyh esa (D) dsfUnzdk esa

89. i fÙk; ksa ds fdukjksa l s cwanksa ds : i  esa t y dh gkfu dgykrh gS&
(A) fcanqL=kko (B) ok"i ksRl t Zu
(C) ' ol u (D) jDrL=kko

90. fuEu esa l s dkSul h i s' kh rdqZ vkdkj dh gksrh gS\
(A) Én;  i s' kh
(B) jsf[ kr i s' kh
(C) fpduh i s' kh
(D) buesa l s dksbZ ugha

85. Which non - toxic, fast growing cyanobacterium is
cultivated in tanks as a protein - rich animal food ?
(A) Scytonema (B) Spirulina
(C) Nostoc (D) Oscillatoria

86. How many mitotic generations should occur for a
single cell to form 256 cells ?
(A) 16    (B) 8 (C) 32 (D) 64

87. Which of the following statement is correct ?
(A) Capillaries supply blood to tissues
(B) Veins supply blood to tissues
(C) Arteries collect blood from tissues
(D) None of the above

88. RNA is absent is -
(A) ribosomes (B) cytoplasm
(C) plasmalemma (D) nucleolus

89. Loss of water from the margin of leaves in the
form of water droplets is called -
(A) guttation (B) transpiration
(C) respiration (D) bleeding

90. Which muscle cell is spindle shaped ?
(A) Cardiac muscle cell
(B) Striated muscle cell
(C) Smooth muscle cell
(D) None of these
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